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AU (23] XT3 AEH FasvHR BR &t
B EHE L L L L m® kWh
E_L ﬁt ,‘j:', {?ﬁﬁ kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/L kg-CO,/kg kg-CO,/kwh
= kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg-CO, kg—CO,
HY> (23] XT3 AEH FasvHR BR &t
z ERE 10,527 600 0 0 102 403,593
= HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
HHE 24,443 1,571 0 0 306 223,994 250,314
- A %l KTk AEH FOsRUHR ER &&t
*E ERAE 3,339 0 2,352 14,600 3,101 248,381
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
i HHE 7,753 0 5,854 39,566 9,303 137,851 200,327
ié AU % §Tih A FONUHR E5 &5t
& ERAE 3,248 8,027 25,553 0 246 194915
% HEHRH 2.322 2,619 2.489 2.710 3.000 0.555
=5 HHE 7,541 21,022 63,601 0 738 108,177 201,079
e AU (23] XT38 AEH FasvHR B &t
*ﬁ ERE 730 0 3,536 58,000 27 1,059,304
;i HEHRE 2.322 2619 2.489 2.710 3.000 0.555
* HHE 1,695 0 8,801 157,180 81 587,913 755,670
AU (23] XT38 AEH FasvHR B &t
3% ERE 0 0 0 0 0 22,611
E HEHRE 2.322 2619 2.489 2.710 3.000 0.555
i = 0 0 0 0 0 12,549 12,549
r AU (23] KT AEH FasvHR BR &t
T ERE 1,402 0 0 0 22 2,486,552
Zﬁf HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 3,255 0 0 0 66 1,380,036 1,383,357
" HIIY 23t KTt AEH FasvHR BR &&t
A ERE 0 0 6,379 0 25,028 1,313,867
{é HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
= 0 0 15,877 0 75,084 729,196 820,157
it AU i XT3 AEfH FasvHR BR a5t
§ ERE 196 0 37 49,000 151 478,063
E HEHRE 2.322 2,619 2.489 2.710 3.000 0.555
B = 455 0 92 132,790 453 265,324 399,114
#t AU i XT3 AEH FasvHR BR &5t
§ ERE 630 0 0 162 18 1,199,712
,]."?; B RE 2.322 2619 2.489 2.710 3.000 0.555
B HHE 1,462 0 0 439 54 665,840 667,795
- AV Bl KT 36 AEh JORUHR BR &t
f; ERE 10,316 3,991 1,350 0 1,705 201,725
ﬁﬁ e R 2.322 2.619 2.489 2.710 3.000 0.555
: HHE 23,953 10,452 3,360 0 5,115 111,957 154,837
" AU L3 KT 38 AEH FRSUHR ER At
I;p ERE 30,388 12,618 39,207 121,762 30,400 7,608,723
E HEH R 2.322 2.619 2.489 2.710 3.000 0.555
- HHE 70,557 33,045 97,585 329,975 91,200 4,222 837 4,845,199




